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Задача 1. ∫
Ω

1

|x+ y|p
dxdy

Решение. ∫
Ω

1

|x+ y|p
dxdy =

∑
n

∫
Ωn

≍
∑
n

1(
1
n

)p · 1

np+2

Задача 2. Тоже самое с четвертинкой астроиды

Решение. ∫
Ω

1

|x+ y|p
dxdy ≍

∑ 1

n3−p

Задача 3. ∫
Ω

1

|1− x2 − y2|
dxdy

, Ω — четверть астроиды

1
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Решение. ∫
Ω

1

|1− x2 − y2|
dxdy =

∑
n

∫
Ωn

≍
∑ 1(

1
n

)p · 1

n3.5

Задача 4.

1 Интеграл по поверхности

x(u, v)
y(u, v)
z(u, v)

S =

∫∫
Ω

|x′
u × x′

v|dudv =

∫∫
Ω

√
EG− F 2dudv

, где E = |x′
u|2 = x′

u
2 + y′u

2 + z′u
2, F = (xu, xv) = x′

ux
′
v + y′uy

′
b + z′uz

′
v, G = |x′

v|2 = x′
v
2 + y′v

2 + z′v
2

Задача 5. График z = z(x, y)

Решение.
x = x
y = y
z = z(x, y)

i
j
k

 1
0
z′x

 0
1
z′y

 −z′x
−z′y
1

S =

∫∫
Ω

√
1 + z′x

2 + z′y
2dxdy

Задача 6.
x2 + y2 = a2

az = xy
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Решение.

S =

∫∫ √
1 +

y2

a2
+

x2

a2
dx, dy =

∣∣∣∣x = ar cosφ
y = ar sinφ

=

1∫
0

dr

2π∫
0

dφ
√
1 + r2a2r = 2πa2(1 + r2)

3
2 · 1

3

∣∣∣∣1
0

Задача 7.
x2 + y2 = a2

y2 + z2 = a2

Решение.
x =

√
a2 − z2

x′
y = 0 x′

z =
−z√

a2 − z2

S = 4

∫∫
y2+z2≤a2

√
1 +

(
∂x

∂y

)2

+

(
∂x

∂z

)2

dy dz = 16

a∫
0

dz

√
a2−z2∫
0

√
1 + 0 +

(
− z

x

)2

dy =

= 16

a∫
0

dz

√
a2−z2∫
0

√
x2 + z2

x2
dy = 16a

∫
dz

∫
dy√

a2 − z2

Задача 8.
z2 = 2xy x+ y = 1, x = 0, y = 0

Решение.
z =

√
2xy

z′x =
√

y
x · 1√

2

z′y =
√

x
y · 1√

2

S =

∫∫ √
1 +

y

2x
+

x

2y
dx dy =

∫∫ √
2xy + y2 + x2

2xy
=

∫∫
x+ y√
2
√
xy

=

1∫
0

dx

1−x∫
0

√
x√
2
· 1
√
y
+

1√
2x

· √ydy

Задача 9.
z =

√
x2 − y2 (x2 + y2)2 = a2(x2 − y2)

Решение. ∫∫
Ω

√
1 +

x2 + y2

x2 − y2
dx dy = 4

√
2

∫∫
x√

x2 − y2
dx dy

z′x =
x√

x2 − y2
z′y =

−y√
x2 + y2
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